| dE/dx estimator 1 | | dE/dx estimator 2 |

Entries 530 - - - - - - Entries 530

i Mean 3.228 Mean 2.99
R S :I_ _______ i......1...[ Std Dev 0.3359

0.35

iSthev 0.2499
[ 0.4 i R

: : : : : Entries 534 : : : : : Entries 534
TR SO I U feeeeii| Mean 3.223 0.35 : SRLES | oo feeeeesiel Mean 2.989

0.3

Std Dev 0.3484 Std Dev 0.252

_____________________________________________________________________ e ] e e

0.25
R |

0.2 S H R
B T L1 T e e S s

.....................................................................

0.15

osf

0.1

ot Pl

e L L B e e I e

1.

o 9 9. -0
| b pe .

=
TT T T[T T 1T
&
h A
i
=

%71 2 3 4 5 6 7 8 9 10 %012 3 4 5 6 7 8 9 10

—=— DQM_TT__mKkFit_

M CTIaTeS 530
| Mean 1.108

: Std Dev 1.138

CTTITeS ToU

—— DQM_TT__mkFit_BDT_

0.16¢ ] : : : ;| Mean 11.93
: "' : | Std Dev 2.725 0.35

T T-1° ETI_

0.14}

: Entries 534

¢ | Entries 534
0.3 . | Mean 1.118

¢ | Mean 11.9

T T T T

012§ froennnes fonnnne Boeeees :-| Std Dev 2.701 : | Std Dev 1.153

0.25

1

0.1

.

.

-

- . . . . . . . . 0.2
.

k-

h—

k-

s S

0.08¢

015 ......................................................................

0.06? : : : : : : :
| AT S S S S 0.1

...............................................................

0.04f1+

.....................................................................

T [-r-|-|-|-|-1-1-1-|-|-r-r-|-|-

002y o0

=11
= T

095510 20 30 40 50 60 70 80

0 10 20 30 40 50 60 70 80



	Contents
	Page 1


